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"Spelling: Long 0

Naome

bolt flow quote chose groan

~ mold mows mole sole load
toll lower stone - stole roasting

. shadow blown stove goal woe

A. Write the spelling words that contain the matching spelling of the

long o sound.

long o spelled oa

A

long o spelledo_e

= © o N O O

long o spelled o

12.
13.
14.

long o spelled oe

15.

long o spelled ow

16.
17.
18.
19.
20.

B. Compare the words goal and mole. How are they alike?

How are they different?
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Name

- MENTAL MATH: SUBTRACTING 10s;
- . 100s; 1000s

Subtract. Use mental math. .

1. 70 2. 60 3. 1,200 4. 900
— 40 =20 . — 500 — 300
30
5. 1,700 6. 5,000 1. 1,800 8. 6,000
— 900 — 2,000 =800 — 4,000
9. 47 . 10.. 81 1. 567 2. 65
— 28 - 39 — 128 — 38
13. 731 14. 503 15. - 8,000 16. 862
— 98 — 295 — 4,000 — 488
7. 9000 18 381 19 1,300 2. 474
— 5,000 - 219 — 700 . — 126
21. 80 — 40 = ___ 22. 400 — 100 =
2 237,000 —.8000 = 24, 1,200 — 400 = ____
= . .
= . :
£ 26.682-38=__ 26. 67 — 29 = ___
2 . |
s 27. 747 — 343 = ___ 28. 543 — 29 = ____
<
2 .
29, 3,257 — 1,099 = __—__ . 80. 5,721 — 2709 = ____
Solve. _
31. Mr. Wong needs 500 linen napkins  32. Woo made 900 wontons. He used
for the dinner crowd. He has 200. 349 to make soup. How many
How many more napkins does he wontons were left over?

need to order?

i Macmillan/MeGraw-Hill, MATHEMATIGS IN ACTION
Practice-27 Grade 4, Chapler 3, Lesson B, pages 104~105



Name

SUBTRACTING ACROSS ZEROS

Subtract.
' 9
2 1810 .
1. 200 2. 470 3.
- 174 -~ 367
| 126 |
6. 700 7. 509 . 8.
— 492 — 147

1. $1.00 12. $8.01 - 1.
- .63 - 2.79

16. 500 17.  $670 18
.~ 379 - 393 .

21. $6.07 22. 400 23.

— 3.70 — 178

2. 450 — 307 = ___

2. $1.01 — $.67 =
30. 600 — 333 = ___

32. $6.03 — $.49 =
34, $7.00 — $4.08 = _____

Solve. ‘ :
36. The Meat Mart made 100 stuffed

pork chops. They sold 48 of them.

. How many stuffed pork chops do
they have left?’

100 4 407
~ 53 — 304
400 9.  $6.00
~ 278

-~ 3.92

$4.10 14 $9.04

- 295 — 3.40

$4.10 1. 900

- 3.07 _— 463

$9.60 24 600

Macmillan/McGraw-Hill, MATHEMATICS IN ACTION
Grade 4, Chapter'3, Lesson 11, pages 110-111

5.
10.
.
20.

23.

604
— o84

830
— 507

500
— 295

- 600

— 340
$7.50

- 3.98

— 1.07 — 298
27. $8.00 —$6.72 =
29. $7.90 — $4.07 =
31. 800 — 125 = ____
33,900 - 527 = ___
36. $5.10 — $3.07 =
31,

Juan has $9.00. He buys hot dogs -

for $3.79. How much money does

he have left?

Practice-30
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A run-on sentence combines two or more independent clauses
incorrectly.

1. It may be missing a coordinating conjunction and comma.

. 2. It may include a comma, but it does not include a coordinating
conjunction or connecting word.

3. It may include a comma and coordinating conjunction, but it has too
many independent clauses. '

Read each sentence. Write C if the sentence is written correctly. If it is a
run-on sentence, write the number from above that correctly describes the
sentence.

1. We tried to catch the mouse, it got away.

2. The student was shy and did not make friends quickly.

3. The joke was funny everyone laughed at it.

4. You should bring an umbrella because it is raining outside.

5. My parents like to exercise, they go hiking with me a lot.

6. | have a game, and my family plays it with me, and it is fun.

7. There is a rainbow over the field it is beautiful to see.

8. My friend called, but it is late, but we talk on the phone.

9. Do you know where | can find a taxi in this neighborhood?

10. 1 did not like the sushi, | did not eat it.
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